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QUESTION 1

When doing a CREATE TABLE, constraints can be specified at the column level. Which two constraints are NOT
automatically enforced via the database? (Choose two.)

A. NULL

B. UNIQUE

C. NOT NULL

D. PRIMARY KEY
E. DEFAULT value

Correct Answer: BD

QUESTION 2

A SELECT statement spends all its time returning 1 billion rows.What can be done to make this faster?
A. Use a CURSOR.

B. Use an EXTERNAL table.

C. Use the COPY command.

D. Increase the PreFetch Count.

Correct Answer: B

QUESTION 3

What is the maximum number of columns that can participate in a distribution key?
A. One

B. Four

C. Unlimited

D. Depends on the number of columns of integer datatype.

Correct Answer: B

QUESTION 4

Which statement istrue regarding the compress engine?
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A. Compression ratio is data dependent.

B. Compression is performed by the host.

C. Compression degrades data scan speeds.

D. Compression is performed by the SAS switches.

Correct Answer: A

QUESTION 5

What will occur when two tables are joinedtogether and the data is NOT collocated?
A. No data movement is required.

B. A merge join operation will be performed.

C. A cluster based join method is performed.

D. Data is dynamically redistributed or broadcasted.

Correct Answer: D
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